%
loa. -1 (3

3 e
x-3 (%) 3(x4) 3
B
b e e e
X-20-3 r;{% (xe)(%-3)  { +xH
(%) (x-3)
c. vk (xg o K o - AR
-4 X o
3 < ( ) 5?‘ l e %t*gx_\(a
Xt ol - x(x;bz)’ o .}:
X+hel X&l L] x&h x X (x;wﬁ)(x-ﬁ) . 5
T | xaaet X
in

n
wl

F P [ Cxctn)(xet) = AC&-t-h.u)} € _L[.*‘:% it e
(K w)(x 1) n

it i {
(xeh+)Oct) ] (xHne)(xel)

? -4
s x-2 ! (x+2)(%-2) X (x42) + x*-4 LEv2ept¥
gl oy g w0 2 -1
i + | (x+2) (x-2) 2.+ gr-Y %
2t o2t | BlPanle2) | 2NN 2,(x+L)
G x ==t : M X+

La. Fx4= %t
—3% =4 =K N
bx =12
& o

| %= &

b 4 [4-2y - 4§ +R)] =-4 (3= [ 5043
—~2(2y48)]
b5 [~y 4y ~28] = J4~ 12y = [4-By-6- 'ty -t°)
45~ [~ey=2] = ~4- e L tit)
4SOy T4 s ~ Y12y 47y £12
éy-i- el 2~ ‘5'\/-&8
8y o4 +8y' -1




;’-C— " X— & -f(
ZMIH X (ZF) = x-212x= 3 3 (x+1)
| Zx -2 =2x+T
it 7 4. —_—2x ]t

do:f__. Z 32 ; _@

mr—

e s AT
Jrmingl )
5 - e ~10= 32
lf(x—f)+1(x+3)—%2. 72 47('2-0-‘-2)(’*"(3‘32' e Y N

b =43 e
%%’*P‘q

€. G;ﬁ" 1‘:*[1)(—-[0::02

(2445)(3x-2) 70 x50 B[x="F
- 3x-2=o0 2 | X -.~-%- |
]

i

£ (ex-)=1 |
( b ‘3 %24 B -=0
Sl 2 E.
— ' = - 53'-\; m
Sxkel 2 N ,____.__ﬁ—-gq"'t’ \*‘"*“"‘9
o ol Bl ,
s | L2 Sl *p- 20 () Crmit)
| o BRI X HAx L
he (2x-8) (x+0)>3 | 3(xt) = Sn- D | ®=22
I b 250 -6% 820 2x-12 +Sk-Is | *77%°
2p* =B % FO a2+ =% g
x= 3TVI+4@)7F - ~gx to B+ >
"-f . O = )1_"‘.—8 +4
( 3 /a5 (;4..--0 o~ F)=O
e 5 | 7 \X-‘-’-
¢ | %
| k(T r g ) =(

| ’_———/——ZK‘HS S N+ dvR 2 xR Y
| 2 Xt
< Zx+6) " (’““’> Z;_r; o] e fial e *™

x+§ > X > oxtdle 2 gy = B x(x~4) 2O X320 %=
“'i?‘tﬁ' ~2n - B X(x=4) P ﬂ
(8 507 24-2"‘[0&-E"j’.1 S“"’""b = wer Py
[ 36 =*3V

T-b? F

(x+3)(xtH) =0 X=- 3;;9@




L. (x+3)*+A(x+3)~18=0 wieay BT ©),
ur'-f‘ka A 3 x__l i J7-<-
W+ .- 1% 20 | w* Aw-20=0
(k+Du-2) =0 (;4:—17.‘-;., () () =0
U, WS ks, w2t & ofag =
cepecy Koo SL L) sk
s X=-1
o |3x-2d =1
ne [x-2{=% -
X=-2=7 X-2=-3
k- 2 t2 Tt
X=9 X #-5
P Lxaf+6=2
Lxtil = —4
o Seluitcon
N2 = B e A 2_(;{1'3)0‘*2.)

Xe3  A(x13) K2

2-3(x-2) = 5(x-2) = 2(x+3)
bx~12 = Sx~I10 t+ Zx+t6

b¥*-l2 = Fx-4

w. (x—=0>=+1
x-L= =3

L
V. (2ZptB xR =)

A EER

koo

Zi- a0 . —\\:S‘s‘i




70 SN Ry T |
 Eagon (4% (x32)

4(x+3) r4x = X (1t3)

2% +12.v%% 7 X Dr

KX t+1l2 = &5+ 3~
—&X ~12 - Bx —~I&

D= x"—=Sx -\
A= 5':_".635'-!-‘{'9

2
2|5 * J3=
SR IS

Z 2_7(‘ ~1bw
259 — P
I¢ (x*-8)%0
2x (X -2)(Re21xtt) =0

= =] £Jzi

[x,-_:.o( ;(.:.a] x:”?_’_r;_____- S;k‘"“"
.8

7

bo X ex g e
w= x
w*+ uw =0
(k +3) (n~2) =0
hz-3, w= o
X=-3 = x= ~A3
T2 ﬁ1X*3L

Bewmer

dd. F|zxlt2= |
-2 —2

F 3%l =14
5 F

= —-2x28z2
‘________—-——.

ﬂiw . Ygan (20-9 (a4} =©
ZU« g M,:'.'/;l,\-*-“\
x =g, %=
2] B 1’
. zizr 2y
13- £
-
3r-237 e 4—2?1‘.. i
+2. 42
3% = 57“:‘#6’
s
1o%)#2.
Sxz 2 Sx= -2
Lyis ’7/3 55 1""3’3




